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A firm's K (return available to sharcholders) 6

15%, the average tax rate of shareholders is 40%
and it is expected that 2% is brokerage cost that

shareholders will have to pay while investing - |

their dividends in alternative securities. What is °

the cost of retained earnings?
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Explain the different sources of working capital

X deposits Rs. 1,00,000 on retirement in a bank
which pays 10% annual interest. How much can

he withdraw annually for a period of 10 years, if
PVgFAis6.145?
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Section-C

R considering the Purchase of a machine.
-

0!18

Rs. 1,00,000. Earning after taxation and
(R S W) © o
I iati he b
tcpreciation on the basis of fixed instal
Answer any fhree questions out of the following xed instalment
nswe v
; stions. Each question carries 15 Markg Systemare cxpected to beasunder -
ive questions.
Answer is required in detail. -
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9. What do you mean by business finance ? Discug -

the nature and scope of business financ_:e.
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(Rs.) (Rs.)
1 20,000 10.000
2 40,000 30,000
3 50,000 40,000
. 30,000 60,000

Evaluate both alternatives according 0

23 T o T G

(i) Payback period method
YT ST % TG

(i) Return oninvestmentmethod.
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7, Ltd. has a capital of Rs. 10 lakh in equity shares
of Rs. 100 each. The shares are currently quoted at
par. The company proposed declaration of a
dividend of Rs. 10 per share at the end of the
current financial year. The capitalizations rate for
the risk class to which the company belongs is
12%. What will be the market price of the share at

the end of the year, if (i) adividend is notdeclared

_‘ and (ii) adividendisdeclared?

| As'suming that the company pays the dividend and
| has pet profits of Rs. 5,00,000 and makes now
investments of Rs. 10 lakh during the period, how

.Inany new shares must be issued. Use the M. M.

model.
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Define ‘Money Market'. Clarify the nature and

subject of money market.
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What do you mean by overcapitalization ?

Discuss its causes and effects.
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